RzF3

- BRRFIVENE
- BINEWSHERR

< FHRE (S ) BR. KEEhES
« ERANLAATI

novotechnik

Siedle Group

NOVOHALL
AEERaE
JEERRTUAY

RFX-6900
Heavy Duty
CANopen

B LiEEWRA

Plla)e
€)

5=

o HERIRIMER

- JEREiTCRARRDN &R AR

« TYEEFENA 360°

« AIEERERE TR

s WNERLER: , BEWES

* IIEEEGEIHRARIP, MIERER

. MR

- DPEER1A i

« IP6OKRAK I BESL S

. TER

« WE™AT EMCESK ; BbanISO pulses and interference fields
according to ISO 11452 and ECE directive

RFX-6900 ZRFAEIERF T MRIRING MEal TIREMNAIRLT , BB ERIIRSIMNE TR, ZCR=RmEIRFNE M
NEBDERY . EARFEMAR , SIF-mERAHE., ZRARHREERAS. (CRESIHRE IR EHEE | T

MFENE. ERSETe®H  FEE

jirL:]

R S5 TR PRSI LEEAAIMgSi1

T 34 M4 g2 | IFPEREED 7 mm

RRIRA R

BSiEE 4x 0.5 mm2 EB45 (AWG 26), TPE, 5/l / M12x13#3L , AR
S

RY

HATIE
S




novotechnik

Siedle Group

I TRaFRtE 5 EE

TR R

A RIS, Wb
« ITREEE/ NVF250T, AZHARFB 10 TER

* FUERBR 0

AFEH SR R AR e,

E )|

BS/RT
6901: 69 x 20.4 mm

#0
6: CANopen$&[]

#BO2Y

L Clitahd

1: 1x (2, 1x EE

51k A, Ik GEE, Z%1200
otk

2: 2x (UE, 2x iEE

6: 2x U, 2% IRE , £i% 120Q

B

1: 1000 kBaud
2: 800 kBaud
3: 500 kBaud
4: 250 kBaud
5: 125 kBaud
7: 50 kBaud

BSEER

14MEiIH

201: 1B4TEREE, K1 m, Bl
511: 14N54EM 12883k, Bl
2N (CAN IN/OUT)

301: 2iR4 B4, K1 m, Rl
611: 2458tM1288L (O), Bl
FITEFI Bt RO B SRR Sk

=1



Position marker

Z-RFC-P__
Marking
/ / Operating range
X
[ o

RFX-69_ - _ - _ 25
@ %
RFX-69_ _-_ _ - __ 5_1 RFX-69 6_1

(12)

- sk HAORICHEFRE S

AR TR |
R ehEl
(EMAIE),

novotechnik

Siedle Group

e

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/



novotechnik

Siedle Group

BARZR
CANopen

BSEN RFX-69_ _-214-6_ _-_ __
CANopen

MESFHR BN

TFTR2 360°

EATIREE 0...1600 rpm

ESEEHE 1/2

il CANopen protocol to CiA DS-301 V4.2.0, Device profile DS-406 V3.2 Encoder Class C2, LSS services to CiA DS-305 V1.1.2

ARIESH B EE, 1088, TIFER , IEnm , (w5 TmID , RS

£Z£EID 1..127 (BRIME127)

R 50 ... 1000 kBaud

RS 1 kHz

DHER 14

BESHEE 360°/2714 = 0.022°/ms

7L < £0.5 %FS

AIESH < +0.1°

fici=1 < £0.1°

BERE +0.2 %FS

T{FEBEUD 12/24 VDC (8 ... 34 VDQ)

FERRITOAE <50 mA

TSI <04W

HERIP 45 VDC (k)

RMEER R B (BR%)

FERRIRIP B (MHXIGNDAIII TIFRE , &A40VDC)

442FR#H(500 VDC) > 10 MQ

R B BustRif 120 Q (|3 )

WREH

BALIFEE FoPRHIRS

iiRsiEHR IEC 60068-2-6 209, 5 ... 2000 Hz, Amax = 0.75 mm

Huspigts IEC 60068-2-27 509, 6 ms

Bh3PE4% DIN EN 60529 IP67 / IP69K (M12#:k: IP67)

TREE -40 ... +105°C

REREMEK MRIEAT - RATREEXNORRT | BEKEH

MTTF (IEC 60050) 413 £ (Bp@IE) or 303 & (WEE, BEE)

FERRIEHA HEFIIS | FREFHRKE

RE/BENERE CE, UKCA, E1 see https://www.novotechnik.de/en/downloads/certificates/declarations-of-conformity-eu/uk
WEEE see https://www.novotechnik.de/en/downloads/certificates/eu-directive-weee/

#E EMC iRt

ISO 10605 ESD ( %4/l ) 8 kv

ISO 11452-2 ISESI AR A 100 V/m

ISO 11452-5 SSBATZRITE | HIKSL 200 V/m

CISPR 25 1E53HERtTfE Level 4

ISO 7637-2 EBiREIkaNITR A& (1, 2a, 2b, 3a, 3b, 4, 5) Level 3

ISO 7637-3 EEiFmtHERXatRE Level 4

EN 13309 2 5RAUMATE

HERU/BPSR

acc. to ECE-R10

ISO 13766-1/-2 FRH Ui

FEEN

FS= BB . MURSNEERENESE



novotechnik

Siedle Group

SHEEGE X
= B4 e

BE2 /3 BES5 /6 _
T{EEEUb =E EHH 2
B == EHHD 3
CAN_H F S 4
CAN_L Eas ST 5
CAN_SHLD =25 S 1

R,

Pin assignment M12
5-pole, A-coded

=]



novotechnik

Siedle Group

RIS HHR

Z-RFC-P02
@28 B2 AMAX0IZIERIIRETE (HBREIAR
18 ®) o8 © B) EH (RISHE) |
e ¥ | FRFESBRIE FEIERIR,
m' N/IRZEN) B Pr
[aN ITI (AN T I . AYFRARERL: 3 mm
RN L1 T AR N TIreRE -40 .. +125°C
i I ! I PR g
Markierung P4 \% 400005661 1
\\_marking ?6.002 400056080 25
empfohlener Wellen-&
recommended shaft-@
Z-RFC-P08
@28 ECMSHREUEEIERIR ( RETHREC )
18 - ) 2154 PF
L~ | 28 N FYFBAGEEE 3 mm
gl i i L TiERE -40 ... +125°C
/O\ ITl /O\ I o PR £(1)
N |_|_| T | VBH ol ™ 400056070 1
| y y 400056084 25
P41 %\
empfohlener Wellen-&
recommended shaft-@
Z-RFC-P23
. 12 EEM AR SEEIRERLR ( RSHRED )
R EURLSIE S | iSSRAFPFM
MR PAG-GF
5 FVFRAREERL+ 3 mm
2 -+ = - TIERE -40 ... +125°C
s \\N S R 8(4)
883 400056074 1
gl £ o5 400056085 25
—.| S Marking
® M4
18
Z-RFC-P31
57 B2 M 3xBIZE R EERIR ( REHRES )
,',-_,; ME PBT-GF
& AVFBAERED 3 mm
N
Q TIERRE -40 ... +125°C
) :\ ] &8N
=§ 400056088 1
&4 400056089 25
S
@3,25 (2x)
A-A

b



45

ANIRIZN
T\i' 1
#—\ - ®45

Markierung

marking

~ 0,2 Magnetschutz
protection of magnet

—

H
M10

Markierung
marking

~ 0.2 Magnetschutz
Protection of magnet

——
li 3 -
1 =
Markierung
S .
‘ 20 1 Marking
(27)
/_ |

'EIE
M10
I D

—

T

(32)

IN

25 : marking
. = SW16

Markierung

novotechnik

Siedle Group

RIS HHR

Z-RFC-P22
EL2/ N7 FMAx20 I2RRRIIHERE ( THBHIAR
B, REHRED).

R E SR TFm.,

%153 PEIREILSE
FFRARERDE 4 mm

TERE -40 ... +125°C

FEERRS 8£((1)

400106735 1
400106736 25

Z-RFC-P18
IR (IEIRER ) M10 x 25 mm,
similar DIN 933

(%153 PEtREIEE
FFRAEERDE 3 mm
TERE -40 ... +125°C
= ERiREe £(1)

400104756 1
400104757 25

Z-RFC-P28
12BN ( NES#Ek ) M10x1 x 20 mm,
similar DIN 933

R FEtREMLIE
SFRAEAfRLE 3 mm
I{ERE -40 ... +125°C
PR £((1)

400108462 1
400108463 25

Z-RFC-P20

SERTBER M10 x 25 mm, similar DIN 933
%154 PEtREIEE
AVFERAREER D 3 mm

TIERE -40 ... +125°C

P RRE £(1)

400104758 1
400104759 25



novotechnik

Siedle Group

RIS HHR

Z-RFC-P04
95201 14 =01 EHRERLTEEEZFNSERLE | SIFEInE
RBE , LABNBIRTIE (B0 , eEEs
MRS E , TYREEEZE/DES20% )
| SYFBAEARL: 3 mm
ki TiREE 40 ... +125°C
e ol = B(N)
400005659 1
400056082 50
Z-RFC-501/502/503
. HTRABSE FAFERRLR Z-RFC-PO2/P41
3 HE REREL4305
o 28 3 ) HWEEY  OB/A[mm]
400056206  Z-RFCSOL  6/45
2¢ ; 400056207  Z-RFC-S02 8/6.5
| 400056208  Z-RFC-S03 10/8.5
Gl o s
8§ Mg
o) X
<) l g
B




novotechnik

Siedle Group

RIS AR

BURT(ERIIE[mm] -FUREmLHE

Z-RFC-P02 / P04 / P08 Z-RFC-P18 / P28 Z-RFC-P22
Z-RFC-P20 / P23 / P31
03..35 0..25 26..73
HEHIRIRTE

M RRIZ RS [FEER

SMUEMRE AEIRERH
THEREEFHRAYE AT
& | BRIERRIERSEET

Z:IE.IO
BRREBIERTIIMIEITHRE- S IRETHE
Z-RFC-P02 / P04 / P08 Z-RFC-P18 / P28 Z-RFC-P22
Z-RFC-P20 /P23 /P31
0.5 mm: £0.4° 0.5 mm: £0.7° 1.0 mm: +0.8°
1.0 mm: £1.1° 1.0 mm: £1.3° 2.0 mm: +1.8°
2.0 mm: £3.5° 2.0 mm: £3.3° 4.0 mm: £5.4°
BRREBIERTIMIEIHRE-TTREHE
Z-RFC-P02 / P04 / P08 Z-RFC-P18 / P28 Z-RFC-P22
Z-RFC-P20 /P23 /P31
0.5 mm: £0.7° 0.5 mm: £1.1° 1.0 mm: £1.1°
1.0 mm: £1.8° 1.0 mm: £2° 2.0 mm: +2.4°
2.0 mm: £5,2° 2.0 mm: +4.6° 4.0 mm: £6.7°

b=
©



@48

®105

novotechnik

Siedle Group

AR

Z-RFX-MO01

REREZIER |, AIETREFE 90 mm, RE5ET
BE3NECERSTRIHEET

R FEtREMEE

RS BSEX

400104278 Z-RFX-M01



FEiRSELR 1P67

IP7 | rees Din EN 60529 e
D54 P68

IP68 | zo DIN EN 60529 #Rtt

m1l

0145
M2x1
e

334

608

1 = Schirm / shield
2 =RD (0,34 mm?)
3=BK (0,34 mm?)
4 =WH (0,25 mm?)
5=BU (0,256 mm?)

e
—
S'vy

@20

I
I

ww gL MS

HRERAOFBRRTERE (EMC) Fff
((li:)) Fifiken

d‘. RFATHUES. SE00E. IHEmE

C \ EITESREEERE. SRR

UL |i8iF ULIAIE

novotechnik

Siedle Group

BLE M12 R5EsL

EEM-33-41/43
SEtMI2x1MIEREL | AR, HEEEREMS , WR
5, IP67 , L% , CAN-Bus
LT PUR
EBUNIRE PUR, @ = 7.2 mm,
-25 .. +85°C (EERE)

S PP, 2x0.25 mm?2+2x0.34
mm?2

iR BSEX KE

400056141 EEM-33-41 2%

400056143 EEM-33-43 10 %

EEM-33-52

SEMI12x1M/EREL , AR, YA,
TR (shield on knurl) |, IP67 , Zimid

#& , CAN-Bus
HELANE PUR
BAHRE PUR, @ = 6.7 mm,
-25 ... +90°C (HEsL/HREERY)
220 ... +80°C (EB4ETY)
S PE, 2x0.25mm2+2x0.34
mm?2
PR BSEN KE
400106373 EEM-33-52 5%
EEM-33-73

SEMI2xIMEREL , AR, HEREREIZEM
$FRIE , HER , IP67 , CAN-Bus

LT Metal, -40 ... +85°C
ERTESLNE 6.8 mm, &k 0.75 mm?
188

PR BSEX
400005645 EEM-33-73
EEM-33-75

SETM12x1MZHEL |, AR, HECERSIREM
IFRIG AR , IP67 , CAN-Bus ; 5zl

BB D T2 90°

LN Metal, -40 ... +85°C
ERTFSLNE 6.8 mm, &K 0.75 mm?
=8

P RRE BISEN

400005646 EEM-33-75

CAN | cAN-bus



novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2023-11-8

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.



